A bunch of text goes here to demonstrate how the text in
a paragraph wraps when it is ensconced to varying
amounts under LibreOffice 4.1.0.4 under Macintosh OSX
10.6. This text will be repeated several times with
different condensing setting for demonstration purposes.

Abunch of text goes here to demonstrate how the text in a
paragraph wraps when it is ensconced to varying amounts under
LibreOffice 4.1.0.4 under Macintosh OSX 10.6. This text will be
repeated several times with different condensing setting for
demonstration purposes.

Abunch of text goes here to demonstrate how the text in a paragraph wraps
when it is ensconced to varying amounts under LibreOffice 4.1.04 under
Macintosh OSX 10.6. This text will be repeated several times with different
condensing setting for demonstration purposes.

A bunch of text goes here to demonstrate how the text in
a paragraph wraps when it is ensconced to varying
amounts under LibreOffice 4.1.0.4 under Macintosh OSX
10.6. This text will be repeated several times with
different condensing setting for demonstration purposes.

Abunch of text goes here to demonstrate how the text in a paragraph wraps
when it is ensconced to varying amounts under LibreOffice 4.1.04 under
Macintosh OSX 10.6. This text will be repeated several times with different
condensing setting for demonstration purposes.

Not Condensed

Condensed 0.5 points

Notice how the text should be wrapping to an earlier line

6

as space has been created, particularly the “a” on the
second line

Condensed 1.0 points

This shows an even more extreme version of it.

Not condensed, justified

Here you see a justified alignment version of the
paragraph to demonstrate that there are not line breaks
between the different lines

Condensed 1.0 justified

Note how when justified only the last line of a paragraph
looks consed, while the other lines are stretched to fill
the entire line since they aren't wrapping.



